CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 FINAL YARD WASTE SITE IMPROVEMENTS - WEST BOULEVARD NORTH SWO10-1785

JUNE 18, 2010

ORIGINAL CONTRACT AMOUNT: \$41,257.25

CONTRACTOR: STANLEY J. JOHNSEN CONCRETE CONTRACTOR, INC.

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
2	INCIDENTAL WORK	LS	1,00	\$1,000.00	\$1,000.00	1.00	\$1,000.00	\$0.00
3	REMOVE CONCRETE PAVEMENT	SF	145.00	\$3.00	\$435.00	145.00	\$435.00	\$0.00
4	REMOVE CONCRETE SIDEWALK	SF	270.00	\$1.00	\$270.00	275.00	\$275.00	\$5.00
5	REMOVE CURB AND GUTTER	LF	54.00	\$6.00	\$324.00	53.00	\$318.00	(\$6.00)
6	REMOVE ASPHALT	SY	102.00	\$12.00	\$1,224.00	125.30	\$1,503.60	\$279.60
7	REMOVE, STOCKPILE & REPLACE TOPSOIL	CY	105.00	\$20.00	\$2,100.00	105.00	\$2,100.00	\$0.00
8	AASHTO T-180 SOIL TEST	EA	2.00	\$115.00	\$230.00	1.00	\$115.00	(\$115.00)
9	EXCAVATION, UNCLASSIFIED	CY	150.00	\$15.00	\$2,250.00	150.00	\$2,250.00	\$0.00
10	AGGREGATE BASE COURSE	TON	325.00	\$12.00	\$3,900.00	297.16	\$3,565.92	(\$334.08)
11	REINFORCED CONCRETE CURB AND GUTTER	LF	417.00	\$23.25	\$9,695.25	408.10	\$9,488.33	(\$206.92)
12	REINFORCED CONCRETE APPROACH PAVEMENT, 6"	SY	60.00	\$57.65	\$3,459.00	60.00	\$3,459.00	\$0.00
13	ASPHALT CONCRETE, CLASS G, TYPE 1	TON	115.00	· \$92.00	\$10,580.00	121.60	\$11,187.20	\$607.20
14	BITUMINOUS TACK COAT	GAL	20.00	\$16.00	\$320.00	0.00	\$0.00	(\$320.00)
15	RIPRAP	TON -	6.00	\$45.00	\$270.00	10.00	\$450.00	\$180.00
16	SEED, FERTILIZE & MULCH	SY	700.00	\$2.50	\$1,750.00	600.00	\$1,500.00	(\$250.00)
17	TRAFFIC CONTROL	LS	1.00	\$250.00	\$250.00	1.00	\$250.00	\$0.00
18	EROSION PERIMETER CONTROL	LF	400.00	\$4.25	\$1,700.00	380.00	\$1,615.00	(\$85.00)
TOTAL					\$41,257.25		\$41,012.05	(\$245.20)

C.C.O. HISTORY INCREASE/(DECREAS	E)		PRIOR ADJUSTED CONTRACT PRICE :	\$41,257.25
	CCO #1 FINAL	(\$245.20)	NET INCREASE/(DECREASE):	(\$245.20)
			ADJUSTED CONTRACT PRICE:	\$41,012.05
			CHANGE TO DATE:	(\$245.20)

De mal	6/22/10
CONTRACTOR: Stanley J. Johnsen Concrete Contractor, Inc., PO Box 2274, RC, SD 57709-2274 342-7453	6/22/10 DATE
PROJECT MANAGER: KLARE SCHROEDER, P.E.	DATE
- Carell Min	6-22-10
CITY ENGINEER: DALE TECH	DATE
MAYOR: ALAN HANKS	DATE
FINANCE: JAMES PRESTON	DATE
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days	

City Staff recommends approval of this Change Order #1F to Stanley J. Johnsen Concrte Contractor, Inc. for a decrease of \$245.20 based on unit pricing with the following appropriation:

initial Funding	\$41,257.25	\$41,257.25
Fund Type	CIP Miscellaneous Improvements	
Department	8913	
Line Item	4370	
Fund	0505	
CCO #1 FINAL	(\$245.20)	(\$245.20)
Adjusted Funding	\$41,012.05	\$41,012.05
Adjusted Funding	\$41,012.05	\$41,0

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 FINAL YARD WASTE SITE IMPROVEMENTS - WEST BOULEVARD NORTH SWO10-1785

JUNE 18, 2010

ORIGINAL CONTRACT AMOUNT: \$41,257.25

CONTRACTOR: STANLEY J. JOHNSEN CONCRETE CONTRACTOR, INC.

ITEM	DESCRIPTION	REASON FOR CHANGE
4	REMOVE CONCRETE SIDEWALK	Actual quantity removed on project.
5	REMOVE CURB AND GUTTER	Actual quantity removed on project.
6	REMOVE ASPHALT	Actual quantity removed on project.
. 8	AASHTO T-180 SOIL TEST	Actual quantity used on project.
10	AGGREGATE BASE COURSE	Actual quantity used on project.
	REINFORCED CONCRETE CURB AND GUTTER	Actual quantity used on project.
13	ASPHALT CONCRETE, CLASS G, TYPE 1	Actual quantity used on project.
14	BITUMINOUS TACK COAT	None was needed on project.
15	RIPRAP	Actual quantity used on project.
16	SEED, FERTILIZE & MULCH	Actual quantity used on project.
18	EROSION PERIMETER CONTROL	Actual quantity used on project.

PREPARED BY: Klare Schroeder, P.E.

DATE: June 18, 2010

	FUNDING TYPE	CIP Miscellaneous Improvements		
	COST CENTER			
	LINE ITEM	4370		
	FUND	0505		
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT	
1	MOBILIZATION	0.00	100%	
2	INCIDENTAL WORK	0.00	100%	
3	REMOVE CONCRETE PAVEMENT	0.00	100%	
4	REMOVE CONCRETE SIDEWALK	5.00	100%	
5	REMOVE CURB AND GUTTER	-6.00	100%	
6	REMOVE ASPHALT	279.60	100%	
7	REMOVE, STOCKPILE & REPLACE	0.00	100%	
8	AASHTO T-180 SOIL TEST	-115.00	100%	
9	EXCAVATION, UNCLASSIFIED	0.00	100%	
10	AGGREGATE BASE COURSE	-334.08	100%	
11	REINFORCED CONCRETE CURB A	-206.92	100%	
12	REINFORCED CONCRETE APPRO	0.00	100%	
13	ASPHALT CONCRETE, CLASS G, T	607.20	100%	
14	BITUMINOUS TACK COAT	-320.00	100%	
15	RIPRAP	180.00	100%	
16	SEED, FERTILIZE & MULCH	-250.00	100%	
17	TRAFFIC CONTROL	0.00	100%	
18	EROSION PERIMETER CONTROL	-85.00	100%	
		(\$245.20)		